The Crunge

Led Zeppelin

J =110

—31
J3)

leichter 16th-Shuffle

er

1

3x

¥

=+

i B

*

.
4

i B

¥

=+

i B

+*

£5

3x

$:3

3x

R
[ ]
XXX v
[ O~
XXX VEA [SplseTsn}
XXX i
nww
[Tolle
N
vy QN | <<t <t
N LWL
XXX
[TolTelTe]
N
XXX N
| | << s _
NN N -
e sl
[}
XXX 7 o
el '.I 7
| L 0
XXX Ju ' 7
J . -
XXX Ay
WL nwvLwn
N
oy ~
QW | << [ ] <<t
XXX uﬂwww: Y i
X XX % XXX
XXX || ' |||
S JAJA X XXX
% X [ ]
SN , | % oo
11 || ]
7 7 wwvLw
sve 1 b
e . ]
wwLw
I gt :
M\\U AUIH\ o e [
O N ) .

1/2



3x

7x

usw. usf.

SS =

X—=6

[

4
4

4
4

* *

5
5

5
5

4
4

Lo
o

F
Kos

4
4

13
. %
21

2/2

AN

L1
NN

AN

—

5
5
5

5

pliolle)

*

o T

i
i

£

=
=+
=

il
-

*

5—5—5

&
- o o

5—5—5

* *

5
5

*

*

5

£

s
¥

P E ### 17
&
.’

4

s

¥
s

+*
Lo

*
=

=+
-

=

*
*

® R R te E

*

i

Nl

=+

£

i

12
14
.

15
20

4
4

16
18

[ (anY
[ (amY
ANV 4

B

"
-




